<> B, FIXML

S 4-73 IR O ERML
—. H#

G4-73 5 Y4-73 Brdril . 51 XWLEH T K & o 20~670T/h 2575
WP SIXWLRSE. AT AR BRI, G4-73 R ] TR BN K
— B X

T XU A TN S, i AL 80°C s 5 KHLAIE A i
A, WAL 200°C, AR 0.745kg/m’, ot el EANBRL 250
T,

FEGIAMLAT, LINBERR A3 E, LU AT HENR D HE N ML H R 25 2
e MRPE M D, BRACEARIET 85%.
—. ®R

TN 5 ABLH RN, & No.8~29.5 14 13 Ml'5 .

PAATLIE v ) e I T it Bl e 2 9 A 70 o

ML AL E, LS R R s M7, < KAL) aT il
B 0° . 45° L 90° . 135° . 180° . 225° . 270° LA,

HMUE 2 T7 X0 D .
=, &%

HMLEZBIE . Hloe. JERE S BT AL 805 4 ko

e B 12 ANE ML R e T M a4 5 PO 10 )G 4
Hial. R THLE AR, RE TR R RS R, e
Z. BPIRIE, MOsHPR. F—HUS R, SIRMLH R SR AR A

BLFE s HLE AR FH L 0 A A2 1T R T AR o BN AL I LA i —
FIARFTER: No.8~12 MLFelE AR L K, AREYFIT. No.14~16 HL5EfEk
“HA, No.18~25 MlaetE e =, X5l XML, WRIEARAE T @& 2 05 LAR;
JB%

HERCE s WS e L 300 R 1 ) e A AR 2 4, PR [ 5 /6 RPN 1
e

W] I CAUET KA e T, il 2B fe b R Fr T . 1153
i 0° ()3 90° (&), WATTIMBAEALE, MBER DT G, Xt
JREE T g KLER A A e A P B4 FF 7 1), 6h b I e IR,
P B B4R R A B4 T T 1) .

FEBF 5y AR AT 0 5l B U TN Rk, A RHLIE R R Bl . il
A PFIE: Nos8~16 FEEMARIIFA X HI&H; Nol8~25 FH =AMLk
MARKE o SRR EREE VIR AT s s A o TETE R ] L-AN46 LA,
IR A AR R BRI ML KA FIEEE, DRk, 2K,
FOKEBERA M, — % 0.5~1m’/h % &,

g iTHRAUN

AR R bE DS N RS AN 5 SN == N S 3 N ) - W D= =y [

DL HL ALY 5 A

181



BB ML RE S B &

No.

2L

r/min

3

ENiN

Pa

i
kW

g

Zl)

L

jﬂ:g =

d

kW

Hu RV
45

HE b A%

(1%)

8D

1450

2104

13.8

2095

14.8

2072

16.0

2018

16.9

Y180M-4

1924

17.6

1794

18.1

1611

18.2

1400

17.7

18.5

M12 X300

Q4Y

48 %110
55x110

9D

1450

2668

24.9

2656

26.8

2628

28.8

Y200L-4

2559

30.5

30

2440

31.8

2275

32.7

Y225S-4

2042

32.8

1775

31.9

37

M16 X400

Q4Y

55x110
55x110

Q4Y

60 x140
55x110

9D

960

1163

7.2

1158

787

1146

8.4

1116

8.8

Y160L-6

1064

9.2

993

9.5

891

9.5

775

9.3

11

M12 X300

Q4Y

42x110
55x110

10D

1450

3301

42.3

3287

454

3251

48.8

3166

51.6

Y250M-4

3018

53.9

2813

55.3

2525

55.6

2194

54.1

55

M20 X500

QsY

65x140
55x110

10D

960

1437

12.2

1431

13.2

1416

14.2

Y180L-6

1379

14.9

15

M12 X300

Q4Y

48x110
55x110

1315

15.6

1226

16.1

1101

16.1

Y200L;-6

OO\]O\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\]o\Ul-';wl\)'—‘OO\]o\ul-hwl\)'—‘d.[u

958

15.7

18.5

M16 X400

QsY

55x110
55x110

182




G4-73 Z

—_—

A)

JH

| XML e S i L PER

No.

2L

r/min

3

ENiN

Pa

i
kW

g

5)

L

e

kW

Hu RV
45

HE b A%

(1%)

10D

730

15886

829

5.6

17939

826

5.8

20100

817

6.2

22154

796

6.6

Y160L-8

24207

759

6.9

26260

708

7.1

28422

636

7.1

30475

553

6.9

7.5

M12 X300

Q4Y

42x110
55x110

11D

1450

41999

4003

68.1

Y280S-4

47427

3986

73.1

75

53142

3943

78.6

58570

3840

83.2

63998

3660

86.8

69427

3411

89.1

Y280M-4

75141

3060

89.6

80570

2659

87.1

90

M20 X500

QeY

75x140
75x140

11D

960

27806

1741

19.7

31400

1734

21.2

Y200L,-6

22

35183

1715

22.8

38777

1671

24.1

42371

1593

25.2

45965

1485

25.8

Y225M-6

49748

1334

26.0

53343

1160

25.3

30

M16 X400

QeY

55x110
75x140

QeY

60 x140
75x140

11D

730

21144

1004

8.7

23877

1000

9.3

26754

989

10.0

29487

964

10.6

32220

919

11.1

Y180L-8

34953

857

11.4

37829

770

11.4

40562

669

11.1

11

M12 X300

QeY

48 x110

75x140

12D

1450

54526

4777

105.2

61574

4756

112.9

Y315M-4

68992

4705

121.4

76040

4582

128.5

132

83088

4366

134.1

90135

4069

137.6

97554

3650

138.4

Y315L-4

OO\]O\UI-BWN'—‘OO\IO\M-BWN'—‘OO\IO\UI-BWN'—‘OO\]o\Ul-hwl\)'—‘OO\]o\ul-hwl\)'—‘gm]

104600

3171

134.6

160

M24 X630

QeY

80x170

75x140

183




—_—

JH

G4-73 S50l XML R Sk AR

No.

2L

r/min

3

325 L
VL E

m’/h

ENiN

Pa

i
kW

g

5)

L

e

kW

Hu RV
45

HE b A%

(1%)

12D

960

36100

2075

30.5

40766

2066

32.7

Y250M-6

45677

2044

35.2

37

50344

1990

373

55010

1898

38.9

59676

1769

39.9

Y280S-6

64587

1588

40.2

69253

1381

39.1

45

M20 X500

QeY

65x140

75x140

QeY

75x140

75x140

2D

730

27451

1196

13.4

30999

1191

14.4

Y200L-8

15

34734

1178

15.5

38282

1148

16.4

41830

1094

17.1

Y225S-8

45378

1020

17.6

49113

916

17.7

52661

797

17.2

18.5

M16 X400

QeY

55x110

75x140

QeY

60 x140

75x140

14D

1450

86586

6541

227

97777

6513

244

109550

6442

262

Y355L-4

120740

6272

278

280

131940

5975

290

143130

5566

297

154910

4990

299

Y355L,-4

166100

4333

291

315

M24 X630

QgY

95%170

95x170

14D

960

57326

2831

65.9

64735

2819

70.8

Y315S-6

75

72534

2789

76.2

79944

2716

80.6

87353

2589

84.2

Y315M-6

94763

2414

86.3

102560

2166

86.8

109970

1883

84.4

90

M24 X630

Q7Y

80x170

95%170

14D

730

43591

1630

29.0

49225

1623

31.1

55156

1606

33.5

Y280S-8

60791

1564

35.4

66425

1491

37.0

37

72059

1391

37.9

77990

1249

38.2

Y280M-8

OO\]O\UI-BWN’—‘OO\IO\UI-BWI\J’—‘OO\IO\UI-BWN’—‘OO\IO\M-hwl\)’—‘OO\]o\Ul-l;wl\)’—‘d.[H

83624

1086

37.1

45

M20 X500

QeY

75x140

95%170

184




—_—

G4-73 Z

A)

JH

| XML e S i L PER

No.

ek

r/min

3

325 L
VL E

m’/h

ENiN

Pa

i
kW

g

5)

L

e

kW

Hu RV
CES)

HE b A%
(1%)

16D

960

85571

3709

128

96631

3693

138

108270

3653

148

119330

3558

157

Y355M;-6

160

130390

3391

164

141450

3161

168

153090

2836

169

164150

2465

165

Y355M,-6

185

M24 X630

QgY

95x170
95x170

16D

730

65069

2133

56.5

73480

2124

60.7

82333

2101

65.3

90743

2047

69.1

99153

1951

72.1

107560

1819

74.0

116410

1633

74.4

124820

1420

72.4

Y315M-8

75

M24 X630

Q7Y

80x170
95%x170

16D

580

51699

1343

284

58381

1337

30.4

65415

1323

32.7

72097

1289

34.6

78779

1228

36.2

85462

1146

37.1

92495

1029

373

99178

895

36.3

Y315S-10

45

M24 X630

Q7Y

80x170
95%x170

18D

960

121830

4710

232

137580

4690

249

154160

4639

267

Y355L,-6
(IP23)

280

M24 X630

QoY

100x 210
130x 250

169910

4518

283

185650

4305

296

201400

4012

303

217980

3599

305

233730

3126

297

Y400-6
(6000V)

315

M30 X800

9

110x 210
130 x 250

18D

730

92648

2705

102

104620

2693

109

Y315L,-8

110

117220

2664

118

129200

2595

124

141170

2474

130

153150

2306

133

165750

2070

134

OO\]O\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\IO\M-BWN'—‘OO\]o\Ul-hwl\)'—‘d.[u

177730

1800

130

Y355M,-8

132

M24 X630

QsY

80x170
130 x 250

QsY

95%x170
130 x 250

185




—_—

G4-73 Z

JH

i ML e I ER

No.

ek

r/min

3

325 L
VL E

m’/h

ENiN

Pa

it

kW

g

5)

L

e

kW

Hu RV
CES)

HE b A%
(1%)

18D

580

73610

1702

51.1

Y315M-10

83125

1694

54.9

55

93140

1676

59.0

102650

1633

62.4

112160

1557

65.2

121680

1452

66.9

Y315L-10

131690

1303

67.2

141210

1133

65.4

75

M24 X630

QsY

80x170
130 x 250

20D

960

167130

5837

392

188730

5812

421

211470

5749

453

Y450-6

233070

5598

479

(6000V)

254670

5334

501

450

500

M30 X800

ByY

130x 250
130x 250

276270

4969

514

299010

4456

516

Y500-6

320610

3870

502

(6000V)

560

M36 X 1000

ByY

140 x 250
130x 250

20D

730

127080

3347

172

143510

3333

185

Y355L-8

160800

3297

199

(IP23)

177230

3211

211

220

193660

3060

220

210080

2853

226

Y355L,-8

227370

2560

227

(IP23)

243800

2225

221

250

M24 X630

ByY

100x 210
130 x 250

20D

580

100970

2104

86.5

114020

2095

92.9

127760

2072

99.9

Y355M,-10

140810

2018

105.7

110

153860

1924

110.4

166910

1794

113.3

180650

1611

113.9

Y355L,-10

193700

1400

110.8

132

M24 X630

QsY

95%x170
130 x 250

22D

960

233000

6865

620

261000

6865

670

290000

6796

711

319000

6630

748

Y500-6

348000

6375

776

(6000V

376000

5963

797

1P23)

405000

5433

815

OO\]O\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\]o\Ul-';wl\)'—‘OO\]o\ul-hwl\)'—‘d.[u

434000

4864

820

710

800

900

M36 X 1000

TL3
140x 250

160 x 280

186




—_—

VB RHLTE e 3 A&

No.

ek

r/min

3

G4-73 &
/h

ENiN

Pa

it

g

Zl)

L

kW

e

kW

Hu RV
CES)

HE b A%
(1%)

22D

730

177000

3972

273

199000

3972

294

220000

3923

311

242000

3844

329

264000

3697

340

286000

3452

350

Y450-8
(6000V)

315

355

M30 X800

TL

130 x 250
P 160% 280

308000

3138

359

332000

2815

360

Y500-8
(6000V)

400

M36 X 1000

TL

140 x 250
P 160x% 280

22D

580

141000

2500

136

158000

2500

147

175000

2470

158

Y355L;-10
(IP23)

160

193000

2420

165

210000

2330

171

228000

2170

176

245000

1980

179

263000

1770

180

Y355L,-10
(IP23)

185

M24 X630

TL

100x 210
160 x 280

25D

730

260000

5140

516

292000

5140

558

324000

5080

592

356000

4950

622

388000

4770

647

420000

4460

665

453000

4070

680

484000

3650

685

Y500-8
(6000V
1P23)

560

630

710

M36 X 1000

TL

140 x 250
P 160x% 280

25D

580

206000

3230

258

232000

3230

278

257000

3190

300

282000

3120

312

308000

3000

324

334000

2800

334

359000

2560

340

384000

2290

342

Y450-10
(6000V
1P23)

280

315

355

M30 X800

TL

130 x 250
P 160x% 280

25D

480

171000

2210

147

192000

2210

159

213000

2190

169

234000

2140

177

256000

2070

184

275000

1930

189

298000

1750

193

OO\]O\UI-&LAJI\J'—‘OO\]O\UI-&LAJI\J'—‘OO\]O\UI&LAJI\J'—‘OO\]O\UI-&LAJI\J'—‘OO\]O\UI-lkal\J'—‘d'[H

318000

1580

194

Y450-12
(6000V)

185

200

M30 X800

TL

130 x 250
160 x 280

187




G4-73 B LIl MHLIERE S e R

ek

r/min

3

32
i

il

m’/h

ENiN

Pa

prh
kW

g

Zl)

L

e

kW

Hu RV
45

PRIE
(1%)

28D

730

365000

6404

915

400000

6404

990

Y560-8
(6000V  IP23)

1000

M36 X 1000

455000

6335

1050

500000

6188

1105

545000

5953

1150

590000

5570

1180

635000

5070

1210

680000

4541

1210

Y630-8
(6000V  IP23)

1120

1250

M42 X 1250

28D

580

289000

4040

453

325000

4040

490

361000

4001

522

396000

3903

546

432000

3756

570

468000

3511

585

504000

3197

597

540000

2864

604

Y500-10
(6000V  IP23)

500

560

630

M36 X 1000

28D

480

239000

2775

258

269000

2775

280

268000

2746

218

328000

2687

312

358000

2589

324

387000

2413

331

416000

2197

340

446000

1971

342

Y500-12
(6000V  IP23)

280

315

355

M36 X 1000

29.5D

745

435000

7218

1220

487000

7218

1295

541000

7061

1390

595000

6963

1460

649000

6698

1530

702000

6276

1560

756000

5708

1615

810000

5100

1605

Y630-8
(6000V  IP23)

1250

1400

1600

M42 X 1250

29.5D

596

348000

4609

625

386000

4609

663

432000

4560

712

476000

4462

747

520000

4315

784

562000

4021

798

605000

3629

826

OO\]O\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\IO\UI-BWN'—‘OO\]o\Ul-';wl\)'—‘OO\]o\ul-hwl\)'—‘d.[u

648000

3236

822

Y560-10
(6000V  IP23)

710

800

900

M36 X 1000

188




3

el E
]Amxnvmmxg_
vy
f===fF
! 0
p ! _
e |
— i 2
] * B .
S e
bpx tu
3
4
BR Y AN EEWW R ez L

B

‘0!

"6

o0 M

"8'ON €L-v

A
9

194



_
3
) J 9
( S/=) ¢ex tu
r
q w i
. x !
oy 2
| Jl. |
— - - T {
| i3 _
p B
e I q
S— | h
=T | __
o+ : < EEE L —

195

[ee]
l
N
i
/\
—
o

.”—le_lll_' = =i

| ik
! TPX Fu =

E| o0 W\_R

Bl s P A 3 W

&

B

S

O 91

“¥1'ON €L-V

A
9



Bl s P AN 3

B

_
E]
o 3
( Sf=) ¢ex ru
I =
" T E
H oy o
-0||_||| wv\./_,...v_/owv
1 i
il | N
= _ |
! I
- = T - Al ool
| __
ﬂu. 3 B
——— ey —— o
! Px Tu
“_wl.l_lll_.l_l_._v
E|
3
E

QB #a0e

9
r 2 _
\, | A%
/ _ —
:
— \

00 W\_R

‘g1 "ON £L-¥ p

196



G473 Ay 80 BSOS 204 R

Bl

yl

oo

N

<f

iy

]

N

<f

D,

D,

D;

1’11><d1

A

n3 Xa, (:Az)

A;

A4

ngXa; (:As)

As

1’12><d2

@800

860

®910

16X D15

G720(Y710)

8X97(=776)

826

520

6 X 97(=582)

628

28X D15

®900

D960

®1010

16X D15

G810(Y800)

8 X 109(=872)

916

585

6 X 108(=648)

693

28X D15

10

D1

000| © 1060

@ 1110

16X D15

G900(Y890)

9% 107(=963)

1006

650

7X 102(=714)

758

32X D15

11

D1

100| @ 1170

®1210

24X D15

G990(Y980)

9% 117(=1053)

1096

715

7X 111(=777)

824

32X D15

12

D1

200| ©1270

® 1310

24X D15

G1080(Y1066)

9X127(=1143)

1186

780

7X 121(=847)

889

32X D15

14

D1

400| © 1470

® 1530

20X D15

G1260(Y1249)

8X167(=1336)

1389

910

6% 165(=990)

1042

28X D15

16

D1

600| @ 1680

1750

24X ®19

G1440(Y1429)

9% 168(=1512)

1569

1040

7X 160(=1120)

1172

32X D15

18

D1

800| @ 1880

®1922

24X ® 19

G1620(Y1605)

9X190(=1710)

1779

1170

7X180(=1260)

1332

32X D19

20

®2000

®2080

®2122

24X ®19

G1800(Y1785)

9% 210(=1890)

1959

1300

7X198(=1386)

1462

32X ®19

Bl

Nyl

b

® R

~f

5

fit N

<f

F

G

K M

H L

a

b

c d

€

f

g

55

25| 544

1339

552 | 1762

280 | 1748

520

440

172.5 | 590

510

599

654

61

75| 610

1503

621 | 1954

280 | 1841

520

440

168.5 | 590

510

664

719

10

68

75| 676

1667

690 | 2146

280 |1939.5

10 520

440

165 | 590

510

728

784

11

74

55| 742

1831

759 | 2343

375 | 2270

11 700

620

214 | 780

700

794

850

12

81

85| 808

1995

828 | 2540

375 (2373.5

12 700

620

210 | 780

700

859

915

14

954

933.5

2357

966 | 2913

500 | 2945

14 900

900

276 | 1000

1000

1022

1122

16

1080

1065.5

2683

1104 | 3277

500 | 3125

16 900

900

268 | 1000

1000

1152

1252

18

1221

1200.5

3094

1242 | 3736

500 | 3590

18 850

960

281 | 1290

1060

1282

1382

20

1356

1332.5

3372

1380 | 4120

500 | 3782

20 850

960

273 | 1290

1060

1412

1512

Bl

yl

i

!

iyt

R

a

a

((LES)

b A

Ple
M BB A
((LES)

C S
(A EHEHEEIHL)
(kg)

LTI

e

K
HHRZE

750

16°

21/

6° 37

M24X 630

M16X400

727(G)813(Y)

22316C

3/4"

800

16°

21!

6° 37

M24X 630

M16X400

794(G)910(Y)

22316C

3/4"

850

16°

21!

6° 01’

M24X 630

M16X400

921(G)1061(Y)

22316C

3/4"

900

16°

21!

7° 10

M30X 800

M16X400

1342(G)1520(Y)

22320C

1//

950

16°

21/

7° 10

M30X 800

M16X400

1481(G)1785(Y)

22320C

1//

1169.5

13°

50’

8° 36/

M36X 1000

M30X 800

2650(G)3095(Y)

22324C

11/4//

1269.5

13°

50’

7° 40

M36X 1000

M30X 800

3145(G)3678(Y)

22324C

11/4//

1372

13°

50’

6° 54’

M36X 1000

M30X 800

4265(G)4945(Y)

22332C

11/4//

1472

13°

50’

6° 18’

M36X 1000

M30X 800

4750(G)5620(Y)

22332C

11/4//

%ol K

[

i #l

e
=

Ju

D

%‘

L

it R SF

JIii 0°

It 45° JIii 90°

JIit 135°

JIit 180°

JIi 225°

JIit 270°

N

1

N

1

N

i N

1 J N

1

N i

J

J

N i

J

1000

400 | 450

890

400

450 | 830

400 | 450 | 750

400 | 450 | 700

400

450 | 650 | 400

450

570

470

1080

111

0] 450|500

990

450

500 | 920

450|500 | 850

450|500 | 700

450

500 | 720 | 450

500

630

500

1190

10

1220

500 | 550

1100

500

550

1010

500 | 550 | 950

500 | 550 | 860

500

550 | 760 | 500

550

700

500

1310

11

1335

550 | 600

1200

550

600

1110

550 | 600

1020

550 | 600 | 940

550

600 [ 850 | 550

600

760

550

1420

12

1450

600 | 660

1300

600

660

1210

600 | 660

1110

600 | 660 (1010

600

660 | 920 | 600

660

800

600

1530

14

1700

740 | 800

1600

1050

800

1440

1050( 800

1320

1050( 680 (1210

1050

800 {1100{1050

800

1000

1050

1840

16

1900

850 | 900

1730

1200

900

1650

1200{ 900

1510

1200{ 800 (1380

1200

900 {1240{1200

900

1150

1200

2100

18

2180

900 {1000

1930

1200

1000

1830

1300{ 950

1680

1200{ 900 (1540

1200

900 {1400{1200

650

1260

1000

2400

20

2400

1000{1300

2170

1200

1150

2000

1450{ 900

1850

1350{1000{1700

1300

1000{1530(1300

800

1350

1100

2600

19

7




o0L¢C M >G2 T M .08 1

| | | | | | | | | |
_ r ] r ]
| . | = |
oG My .06 M oG M o0 My
o |&
BRSO R gy N
ao¢ 8L 9L *¥L ¢l *L1L *0l 6 *8'ON mmlvw

198



| —Tg ] __m__ ‘8
p pd
H\ 1 T
_ [ mv| —
\ |
L
cﬁ_vw_g; _
g | 9
+ ¢px cu 1
= _
T mwwWMHHHW%\ % weem | _ 78
RANRGEE /=) 2ex ru - ! td
o |J<| N > .__a_v zg _ rq |
| | _ |
| _w
ERElx _ | q
d = )
o —— - _ @%!-
! |
_ 3
L]\ | .
| i
[ — y
1 | S e m— ey |
3 oO W\_R
~— l_ —_
& A

R BT

B

Qi A 5 a8e

"dS¢ "¢c¢'ON €L-Vy

99

1



$4—73 No.22. 25D. 28D %%iﬁ%‘rl\ga} RALZEE R INE R~FR
Wl R M H A ]
No. | D; D> Dz | mXd; Ax RXa(=A2) | As | As| nuXa(=As) | As | mXd;
22 |®2200| P 2280| ® 2360,36 X D 19 (%gg% 10X 207(=2070) [2149/1430| 8X 191(=1528) | 1606| 36X P19
25 |d2500| P 2560| P 2600,36 X ® 19 (%ggg) 12X 198(=2376) [2459/1625| 9 195(=1755) | 1841| 42X 19
28 | D 2800|® 2880 © 2960|136 X P 19| Y 2504 |14 X 190(=2660) [2732/1820|10 X 195(=1950)| 2036| 48X ® 19
L= @ &2 M A & IN )
No. Bg B4 B5 E F G |Hi| K L L |L> L3 M N b C d e f g t
22 | 0 [320/427| 1503 |1456.53692735|1518/4395| 560 [600[48014471(2587.5 870 | 2811770 990 [2100230022
25 280(420|427(1704.51654.54209 735|1725/4683| 560 [600[480/5109| 2959 | 870 | 268 1770 990 [2300250025
28 |280[420|457| 1904 | 1854 |4704/830|1932/5366| 700 [650/560/5700| 3298 [1060| 242 2030/1180[2800300028
H s T T N X =
e 2 ) SN ik el
No. | M(d3) Xly (kg) kg m® RS
M X1 R a a £t
(6 1) (dg) X1z : (kg)
X
22 |M36X 1000 M?g 3500 1690 | 6° | 9° 18 1601 4240 [22338C| G7580(Y9509)
X
25 |M36X 1000 M.’;’(E; 7231)()00 1860 | 6° |10° 20 2150 10200 [22338C| G9210(Y 10520)
X
28 [M42X 1250 M?g 3500 1993 | 6° 6° 3078 22344C|  Y15008
A [7] H A M H B @ &2 N )
o Wi 0° Wi 45° i 90° Wi 135°
H B, B, H B, B,| H B, B, H B, B,
22 | 1500 | 800 | 1300 | 1700 1300 |800| 1500 | 1300 | 800 | 1600 | 1300 | 650
25 | 1700 | 1000 | 1200 | 2000 1000 |900| 1700 | 1300 | 900 | 1800 | 1300 | 900
28 | 1800 | 1400 | 1000 | 2200 1400 [1000 1800 | 1400 | 1000 | 2000 | 1400 | 1000
A [7] H A M H B @ &2 N )
HNLf JIfi 180° JIFi 225° JIii 270°
H B]_ Bz H B]_ Bz H Bl BZ
22 | 1500 1100 650 1350 1100 650 800 1300 1500
25 | 1700 1200 700 1700 1200 710 800 1500 1800
28 | 1800 1400 1000 1800 1400 900 1100 1600 1900

200





